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Thinking About a Geometry Problem
Input file: standard input
Output file: standard output
Time limit: 2 seconds
Memory limit: 64 megabytes

Hello everybody! I hope you all are fine enough to solve a geometry problem. Oops, I changed my mind.
Instead of geometry, let’s play a normal game!

It’s a puzzle game I think. So, you are in a 2d plane which has a length of n and width of m. Now, you
are in the Upper-leftmost cell (1, 1) and you have to travel to cell (n,m). You are only allowed to move
to right or down. After arriving at the cell (n,m), you heard that we’re arranging a coding party on the
cell (1, 1), So you decided to go back to the cell (1, 1). And for this, you are allowed to move up or left
only. But the problem is, you can’t move to a cell more than once. Since you are in the cell (n,m) and
willing to come back to the starting cell, you’re technically visiting cell (1, 1) and (n,m) twice which is
okay. But you can’t visit any other cell more than once. Each cell (i, j) has some chocolates aij . When
you walk through a cell, you take all of the chocolates. So you have to finish your journey in such a way
so that you can get the maximum number of chocolates.

Input
In the first line, you will be given n and m, number of rows and number of columns. Each of the next n
lines will have m numbers, which will be our ai,j . For more realization, have a look at the sample example.

Output
Output a single number, which will be the total maximum number of chocolates.

Scoring
Subtask 1 (9 points): 1 < n ≤ 100 , m = 2 and aij ≤ 109

Subtask 2 (18 points): 1 < n ≤ 9, 1 < m ≤ 9 and aij ≤ 109

Subtask 3 (23 points): 1 < n ≤ 50, 1 < m ≤ 50 and aij ≤ 109

Subtask 4 (50 points): 1 < n ≤ 100 , 1 < m ≤ 100 and aij ≤ 109

Example
standard input standard output

3 4
4 4 4 4
4 0 0 4
4 4 4 4

40
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